MAX and MIN APPLICATIONS

xample |

a daring dive off the cliff, Alyssa's height above the water
ven approximately by the cquaﬂ‘non y = -312 +6{+7 |, where
ig her hcngm in metres and t is the time in seconds.
(a) Determine the maximum height of her dive
(b) How long does it take hm to reach the maximum height?
(c) How high is the cliff ledge from which she is diving from?

Example 2

Abas Q"%! player throws a bdi% hat travels according to the
formula: ‘ '

h{é}agah 114 -4.9¢

Where h is the height reached in metres and tis the time.
taken in seconds.

(a) Determine the maximum height reac,hed by the bd“

(b) At what time does the ball hit the ground?

Example 3 | |

The paﬁ h of a goifball hit by Mr, Michalak is described by :

h = - 42 + Hhox

Where h is the height above the gmund n metres, and x is
the horizontal distance travelled in metres,
(2) What is the horizontal distance fravelled by the ball when
the maximum height is reached. '
(b) Determine the maximum h@lgm of the ball.
(¢} Determine when Lkebai! is 160 metres above the ground.

Answers (to both sides of worksheet}:

Example 1 a)10m b) 1second c¢) 7m
Example2 a)6m b) 2.1s
Example3 a)7m b) 198m ¢)3.92sand 10.08s

Text pg 154
#8 a)70m b} 2s c) 50m #10 min value is 2, therefore cannot belessthan 1

#9 $562 500 ' #11 a) $5450 000 b) $40 000 c)between $22971 and $57 029
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